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CBSE Class 10 Science

Chapter 1

Chemical Reactions and Equations
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il. Why do we need to balance a chemical equation?
iAnswer:
..We need to balance a chemical equation to satisfy the law of conservation of

““mass.
Y

i

+-2. Name two salts that are used in black and white photography.
iAnswer:

iTwo salts that are used in black and white photography are:

i(i) Silver chloride
¥

i(ii) Silver bromide

¥

iB. What is the product formed on adding quick lime to water?
~-Answer:

iWhen quick lime (CaO) is added to water, the product formed is slaked lime
iCa(OH)z :

§4. Write the chemical formula for marble.
iAnswer:

iChemical formula for marble is CaCOs3.

Y

“+5. Which type of reaction produces insoluble salts?
- Answer:

iPrecipitation reaction produces insoluble salts.

§6. A silver article turns black when kept in the open for a few days. Give
ireason for this change.

Answer:

iBecause H2S gas present in the air reacts with silver forming a coating of black
isilver sulphide (Ag:S).
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7 Name the phenomenon involved in turning of silver into snlver

o sulphlde in the above question.

COFFOSIOH

‘8. How does food become rancid?
Answer
'Food becomes rancid when fat and oils present in the food are oxidised.

Why is respiration considered as an exothermic reaction?

:>
=
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Because heat is evolved during respiration.

10 Which gas is filled in the chips packets to prevent rancidity and why?
nswer:
itrogen gas is filled in the chips packets.

itrogen being an inert gas prevents the oxidation of oils present in chips.
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